
STARFLEET GERONIMO-CLASS
   cruiser [carrier*]; commissioned: 2234; withdrawn: 2254 
    
HULL DATA
  structure: 35
  size/decks: 5/24
  L/B/H: 163/122/45 
  complement: 480  

TACTICAL DATA
  phase cannon banks: PC-10a (x6/C); fire arcs: 2 f/p, 2 f/s, 2 a
    penetration:  4/3/3/0/0
  pulse phasers: Type I (x12/C); fire arcs: 4 banks of 3 f/p/s   
    penetration: 4/1/1/0/0
  torpedo launchers: Mk 12 if (x4/C); fire arcs: 2 f, 2 a
    penetration: 3/3/3/3/3
  deflector shields: PFF 2 (A)
    protection/threshold: 12/1

PROPULSION DATA 
  impulse system: SBE (0.5c) (D)
  warp system: PB-20 (5.2/6.2/7.2) (D)

OPERATIONAL DATA
  cargo units: 80
  life support: Class 3 (D)
  operations system: Class 3 (D)
  sensor system: Class 3 (+3/+2/+1/0/0) (C)
  shuttlebay: 6 aft (counts as 2)
  shuttlecraft: 30 size worth
  tractor beams: 1 fv, 4 ad
  transporters: 5 standard, 5 emergency, 5 cargo

MISCELLANEOUS DATA
  maneuver modifiers: +4 C, +0 H, +2 T
  traits: *Carrier, Prototype (+0-; pulse phasers), Pulse Weapon Upgrade (pulse phasers; 
reflected above), Design Defect (pulse phasers; reflected above), Intricate system (life 
support, operations), Enhanced System (sensors), Flagship (+2 C; reflected above) 

*Carrier: The vessel has been designed to function as a carrier, for either multiple 
shuttle-craft, a large compliment of runabouts, or even a squadron or two of Starfighters.



            Effect: A Carrier will have x2 the space of a non-carrier of equivalent size, but 
this extra space must be used to accommodate the ship's carrier status (extra 
shuttlebays, space for fighters, etc.). ie. a Size-10 carrier would have 330 space, but with
165 points allocated to picks for things such as shuttlebays, fighterbays, etc., and still 
165 points to build the basic ship (weapons, life support, sensors, etc.). This trait can be 
chosen multiple times to build a high-capacity carrier, but each additional pick only 
serves to add x1 to the space. ie. a Size-10 ship (which begins with 165 points of space)
doubles its space (330) with one pick of "Carrier", and on a second pick would have 495 
points of space, 660 on three picks, etc.


